https://lwww.leads4pass.com/c2090-311.html

L Qads 4 PQSS 2024 Latest leads4pass C2090-311 PDF and VCE dumps Download

C2090-311°%As

IBM DB2 10.5 DBA for LUW Upgrade from DB2 10.1

Pass IBM C2090-311 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.leads4pass.com/c2090-311.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest C2090-311 Dumps | C2090-311 PDF Dumps | C2090-311 VCE Dumps 1/3


https://www.leads4pass.com/c2090-311.html
https://www.leads4pass.com/c2090-311.html
https://www.leads4pass.com/c2090-311.html

https://lwww.leads4pass.com/c2090-311.html
2024 Latest leads4pass C2090-311 PDF and VCE dumps Download

QUESTION 1

If the DB2_WORKLOAD registry variable has not been set which database manager configuration parameter must be
modified, before a query that accesses a column-organized table can be executed?

A. INTRA_PARALLEL
B. QUERY_HEAP_SZ

C. MAXIMUM DEGREE
D. SHEAPTHRES SHR

Correct Answer: A

QUESTION 2

What happens when the STATISTICS USE PROFILE option is provided with a LOAD command that will be used to
populate a column-organized table and a statistics profile does not exist?

A. A warning is returned and no statistics are collected.

B. An error is returned and the table is placed in "load pending" state.

C. A statistics profile is automatically generated before the load is allowed to continue.

D. The Load utility uses the same RUNSTATS command options as those used during an automatic runstats operation.

Correct Answer: C

QUESTION 3

In which type of database are column-organized tables supported?
A. Partitioned databases.

B. DB2 pureScale databases.

C. Databases whose code set is Unicode.

D. Databases whose code set is Non-Unicode.

Correct Answer: A

QUESTION 4
Which type of compression is NOT provided as part of the DB2 Storage Optimization Feature?

A. Row compression
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B. Index compression
C. Backup compression
D. Temporary table compression

Correct Answer: C

QUESTION 5

Which statement about expression-based indexes is true?

A. The RUNSTATS command cannot be used to collect statistics for expression-based indexes.

B. Expression-based indexes must always be defined as UNIQUE to prevent duplicate index keys.
C. Expression-based index keys consist of a concatenation of one or more specified table columns.

D. The index key values of expression-based indexes are not the same as the values in the corresponding table
columns.

Correct Answer: D
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